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® Assume iis reveuiue). } = S. =8 -
2 4

® Time foot ensugh S0 Q=0
® Prolencl gus has same Props as air.
Prelim;‘um-‘e), Mass n Cblfno‘lr\ PV

Wha is fiest law T
O-w=mlucw) > we mi-uy)  Qows—> Fow = I8,
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Examplei Nouclaar power Flawl operal-ina on  helium cyclo.
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12001 v W e? First Law --fL:‘V::: Hl-j,.',
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° Adwabatic 2V 100 yp, = ,9,:’ = Cp(T-Ta)
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o L F z
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Now we can soive tle durkine fMHem:
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= he=h; = SY3.3S~ /04604 = = 993 /"é)]

A slis di Flerant  olerivgtion  leaols Jov IN““"" ool 1,7\,4,,-“:

e

ﬁ'Ahoﬂur cancefh Iﬂ')'!rno‘ K?UGISlLl'II'J'v : E‘vera*hma mgulo boundan'e.\

is Trevernibla.

=1
g
5
s
E]
E
3
%.2(

Tsot hanmed ‘
Eufom‘oq " 200°C Friction,
Q [ Q ‘ Q
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To{-ql\é Reversibly Friemally £ &_

Reversibla }
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Oovisich bd:)) X
Less W ouvt
z Beyiniuy uad
S end staty
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200%C ' V:for. * Q@ Addad unkl T,2200% \g——) hé 22595.3 ”‘jym
- Vo::me ulcnl;hs,‘i Sa% \por = o,;z-;qm’/L:v
* smays censiaud. S, = 6.432% KX
Kf;z:;":;"‘ . Inhm\,\a Reveuih\e, 1= & /{S'K
Find Q, W, enhorss en. Yo 5Ys. Fz = 0,844 MPa
ev\*mm gen tor univene, U, = 262%.6 KT/Ks

2= G.-‘*’q"‘ K%‘Q'H



| |
| |

| | @@

-A\".Narional "“Brand
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= for otur Mases thai do not list

R, v+ vdoe (eg, 0z, M), nud 1o
U S°

ComFres.sor anJ Turbine erﬁ'c;'encd'.
R
T

S——
Wy
Wgs
PZ 3 Tqu) TZ,)

Keal q 2 Think of some vsedvl work
Lev‘ng Joit 45 Frickion
=D Less worl comes Out

becavse RllHn.a Flord » hoﬂer,

n=

depends on both BT,

Comiaw- Cp (iwwts ¢ Small aT)
= Inlegrak divecty

(525, = Cpln [%]_ K}n‘[%]
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